QOYIIUXIN Fi=N54 T EURIMYM st smm=t)

No.E-9659Z

Q-LOCK ELEMENTS

( u:;

ERON ame(d

£ 1 SUS RILS 1 ZF =)L
E> L ELEE

OQ-OVITUAVN R=)LIA T XEERDE VT,
O —JICYNUGBER—REDMBROETVNET,

L s Rl EES * {BEEER
\ : : i
947 | #—9"—No. No. BEEHE A B C D E F G HEEg
: : : : : : : : 1~98 | 10@LLE
149932 | QLKO5RPB [KS5.3BK5B 15 M 6x1 25 10 1 25 136 5 : 25|18,900 | 17,000
D’éﬁ;“ * 136936 | QLK10RPB [KS10.3,K510.2 22 M 8x1.25: 37 : 15 = 3 22 6 60 |22,500 | 21,500
% 136937 | QLK20RPB |K520.3KS20 32 M12x1.75: 54 : 25 ' 5 32 8 180 | 38,400 | 35,600
\ 149933 |QLKO5DPB [KS5.3BK5B 15 M 6x1 25 10 25 136 5 : 25/ 18,900 17,000
5';; % 141877 |QLK10DPB|KS10.3,K510.2: 22 M 8x1.25: 37 = 15 = 3 22 6 60 |22,500 21,200
* 136939 | QLK20DPB|KS20.3KS20 32 M12x1.75: 54 : 25 ' 5 32 8 180 | 40,700 | 37,600
s 149934 | QLKO5CPB [KS5.3BK5B 14.8 M 6x1 25 10 1 25 136 5 ¢ 25|18,900 | 17,000
7Zj * 141878 | QLK10CPB [KS10.3,K510.2: 21.8 ' M 8x1.25: 37 : 15 : 3 22 6 - 60 |22,500 21,500
* 136940 | QLK20CPB |KS20.3,KS20 31.8 M12x1.75: 54 = 25 = 5 32 8 180 | 38,400 | 36,000
WETIIT~E WERAG
A No. A B C : D
! QLKO5 10 2.8 92 M 6x1
D\ ] QLK10 15 3.5 13 M 8x1.25
\ e QLK20 25 55 18 M12x1.75
i )
%
& DA

SINCE 1560

NABEYA co., LTD.

2023.7.21

CADF—959y0—k « EERRI Web ¥ bT! [ 7T

NeO—0)
B MIN N SERImaE

87



